12.2 Solve Quadratics by Graphing

PRACTICE

Find the coordinates of the zeros and vertex using the graph of the function.

i

Zeros: X = e p 3
Vertex: >
(1,4
Is the vertex r minimum?

2

Zeros: X = 9 -
Vertex: (—:’)/-3’)

Is the vertex a maximum D

Zeros: ¥ = S

/

Vertex: (SdJ O}

Is the vertex a maximum

Find the roots and vertex of the function by graphing. Sketch a rough graph. Round to the nearest hundredth.

4 f(x)=-x*-3x+4

Roots:

="' |
Vertex:

(— .S, L..lﬂ

Is the vertex minimum?

5. f(x) =§x2+4x+5

Roots:

X= 645 -lss '\ .

Vertex: s
4,-3) \/

Is the vertex a maximum of minimum?

6 flx)=-2x*+11x—8

Roots:
X= 0.8k, Y. bY
Vertex:

(75, 7.135)

Is the vertex amaximum)or minimum?

&

7. f(x)=02x*+3x-5

Roots:

y=-lest 15

Vertex: — ——t
L”r.fl—m.}%\

Is the vertex a maximum onminimum’?




Solve the equation by graphing. Round to the nearest hundredth.

8 2x*+x—-3=0

=

=0

ek o
n=-1.t

K

\|

9 —4x —4x+1=0

J ¥ - 131,23

2EF
n=l =0

2&Fh
n=. 20710678

10.3x%+1=2x
- Ly =¥

I+l - o

O:-~Lx ey k3

&k

n= '1.1522?9’\t/ EEE?:I.EEZ???

Graph to answer the following. Round to the nearest hundredth.

12. Find the zeros of

1 THOO0
“min=-15
H“max=1A
macl=1
Ymin=-18
Ymax=15

A="lhl, ~0A

A

f(x) =—%x2—6x— 5

Yacl=1

—_— ZeFg
Hres=1 =-11.0880%

f

Pl
Y=-zE-1Z W=-9000E0E V=i

13. What is the maximum point for
y=—x*+22

NéHDDM i@ ->
min=-

“max=1a [0’11
sacl=1

Ymin=-18

Ymax=25

T1==Hz+22

Y=cl=5
ares=1

14. Explain why there is no solution to the following:

f(x)=06x>—2x+5

Doernt cross o wemaris
SKILLZ REVIEW
GRAFPH FACTOR ™ RADICALS
1. 2x+y=-3 2. x?+2x—80 jQq 3. Simplify
. - . . N o
gid . AN (\M'll}\t}'«‘qb \r%u ‘f7—5(
| ' BERE
Y =3 TN
TrEEE (58H)
4 x—2y= 16 . . 5. 2x*—5x—3 6. Simplify

IF YOU CANIT.G

T THEM

TRY THESE!
I. WATCH THE SKILLZ REV

V2
IEW VIDEO FOR HELP!




